TP N°3 : Simulation d’un conditionneur d'un capteur inductif

1. Simulation par Multisim :

1.1. Schéma électrique

Realiser le montage dans trois pages (Multi-page):
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Page 03 > Name: 'Peak_detector_Amplifier":
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1.2. Type d'analyse : Parameter sweep
Active Analysis:
Interactive Simulation Parameter Sweep @
DC Operating Point Analysis parameters  Qutput Analysis options Summary
AC Sweep Sweep parameters
Transient Sweep parameter: Device type: Inductor
DC Sweep Device parameter Name: LC
Single Frequency AC Parameter: inductance Analysis parameters
Presst vlu: 00004 A
e Description: Inductance of inductar | Initial conditions: Determine automatically ~
Monte Carlo Start time (TSTART): 0 5
Fourier Points to sweep

Temperature Sweep
Distortion

Sensitivity

Worst Case

Noise Figure

Pole Zero

Transfer Function
Trace Width
Batched

User-Defined

Sweep variation type: Start: 4p0 pH End time (TSTOP): 0.0002

Linear e Stop: 460 B

Number of points: 7 B vaximum time step (TMAX):  1e-07

A (4r 4r 4

Increment: 1g H

simulation time will increase.

More Options

Setting a small TMAX value will improve accuracy, however the

8 mitial time step (TSTEP): le-07
Analysis to sweep: Transient ~ Edit analysis...

Group all traces on one plot

Reset to default

0K Cancel

Questions :

e Pour quelle

I Run Save Cancel Help

Help

raison on a choisi le pont de Maxwell ?

e Trouver la condition sur RE et CE pour équilibrer le pont (VA=VB).
e Donner I'expression de VMES=VA-VB en fonction de LC.
e Donner I'expression de VOUT_AC en fonction de VA-VB

e Expliquer le fonctionnement de circuit 'Peak detector".

e Donner I'expression de VOUT en fonction de I'amplitude de VOUT_AC.
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